BASIC ALGEBRA Exam 3 (One Step Ch 3) FORMS A and B Dr. Rapalje

BASIC ALGEBRA Exam 3A* Name
Show all work on this test or on separate paper! Calculators ARE allowed on this test!
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In 12 - 14, find the least common denominator (LCD).
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In 15 - 19, add or subtract as indicated.
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In 20 - 24, solve the equations for x. Check answers as necessary.

¥ X th _ x+8 21 x _ 3
3 5 ’ x+8 x+13
22, X =_3 23, X _ X2 -, 24. sx=hx+
x-1 x-21 3 2 . ¢
25, I1 15 pounds of dog food cost 53.59, 26, If vou can buy 9 apples for 53,95, how
how much would 40 pounds cosi? many apples can you buy for $207
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BASIC ALGEBRA Exam 3B*

Name

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers,
CALCULATORS ARE EXPECTED ON THIS TEST. REDUCE ALL FRACTIONS.
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In 11 - 13, find the least common denominator (LCD)

THEY Forrrs & v G S 13, e
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In 14 - 18, add or subtract as indicated,
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In 19 - 14, sedve the equations For x. Check answers as necessary,
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for 3 Mi-ounce can® can vou expect ta huy for 5207
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